Max Marks : 150

All India Trade Test - 2024 for Crafstmen Training Scheme (CTS)
Trade Name: Electrician_Year 1
Year: 1st Year

Exam Date :
Exam Time :

Note:

1. Tick the correct option out of four alternatives provided
2. All questions carry equal marks (2 Marks each)

3. There is no negative marking

NSZ Client S)u estion Question Body and Alternatives

Trade Theory

Which resistor the lowest current flows in a parallel circuit having the values of 50, 220€2, 450Q and 560Q connected
with supply?

AR TRTY T T §U 500, 2200, 450Q TUT 5600 TfeRIe B § forg UfeRiy & W9 &8 URT 9819 BITI?

Alsoq

50Q

A2 »00

220 Q

A3 4500

4500
A4 5600

560 Q

jTrade Theory

2 What is the unit of capacitance?

e B 3PTS T 82

Al Mho

Mho
:A2 Henry
Henry
{U Farad
Farad
§A4 Coulomb

Coulomb

Trade Theory
‘Which factor affects the polarity of the electromagnet?

P T BRB [I5qd TWah B LITaT B THIRAT T 22

,Al Length of the coil

EENIEIKISIH
?'\2 Direction of current
YRT 1 fa=m
:AS Strength of current

YRT Pt Al

54 Strength of the magnetic field

EECIRE eI RIS

Trade Theory

Marks

2.0

2.0

2.0

Negative
Marks

0.00

0.00

0.00



What is the unit of permeance?

R B 3D ATR?

:A] Ampere - turns
Ampere - turns

:A2 Weber/Ampere turns
Weber/Ampere turns

:A3 Ampere turns/Weber
Ampere turns/Weber

64 ‘Weber/Square metre

Weber/Square metre

Which rule is applied to find the direction of magnetic fields in a solenoid coil?

R Heelt W g &= @ f3xm @iem & forg @i fam any fasan srar g2

.Al Cork screw rule
Pich T Fgd

Al

2 Right hand palm rule
QIR 81U 1 gl b1 oA
:AB Flemings left hand rule
TRAERT BT ST g1y BT e
f\4 Flemings right hand rule

TR 1 ST BTy T

What is the part marked as ‘X’ in B.H curve? N
B-H @5 H X' §RT ${fcbd T T A1 §a1sq

Trade Theory

N Trade Theory

3

{\1 Coercivity

2 Saturation point
T fig
{\3 Magnetizing force

TEHI T

A4 Residual magnetism

AR FEHA

What is the unit of Reluctance?

R T F1 318 A2

Trade Theory

2.0

2.0

2.0

0.00

0.00



Al
. Weber / metre?

Weber / metre?

AZ Weber / metre

Weber / metre
.AS Ampere turns / Weber
Ampere turns / Weber

A4
. Ampere turns / metre?

Ampere turns / metre?

Which defines the flux density is always lagging behind the magnetising force?

TR T SRR g 1 9 § U g B, et uRenfd s g2

,Al Hysteresis

Ry

{\2 Magnetic intensity

T <ol

AS Magnetic induction

DI IROT

54 Residual magnetism

SR TED

‘What is the S.I unit of Flux density?
T BT i S1 SIS T 82

A

1 Tesla

el
_Az Weber

IR

53 Weber/metre

GRS

.A4 Ampere-turns

R e

Which is the cause for changing the permeability?

AR % ufafdd 8 &1 FT BRI E?

_Al Length

TS

52 Flux density

TR Y1cd

A3 Field intensity

& arar

A4 .
. Magneto motive force

o1 qTED el

What is the effect of inductance if the distance between the turns increases?

Trade Theory

Trade Tg_eo_zy

Trade Theory

Trade Theory

f grTdl & S &1 g3 Tet ¢, < IRUT BT UHTa 1 82

2.0

2.0

2.0

2.0

0.00

0.00



Al

. Increases
a%‘

{\2 Decreases

e

A3
_ 7 Becomes zero

[ B SR

A4 .
~ Remains same

BSEIGE Q%‘
Trade Theory

What is the function of diclectric insulator in capacitor?

e § WRIfdggd peTer P Y 1 82

fM Increases the strength of capacitance
TR B aTehd eI &

A2

.~ Prevents any current flow between plates

Wet ¥ g Rt off 4R gaTE ) Aepen 2

53 Protects from short circuit between the plates

Wl & s TYUYE W §EIdT §

,A4 Helps to hold the charge in capacitor for long period

T 7 S 1 ofd Gy % X@ & Hed bRl g
TradchT?;r!

What is the unit of susceptance?

TG DI 3PS A 8?

Al Mho
Mho
A2 Ohm
Ohm

'A3 Henry

Henry
54 Farad

Farad
Trade Theory

Which type of resistor is used for Arc quenching protection in circuit breakers?

ldhe ST B 3T T GRe T 53 TR & wferier o7 S fopam e 82

{\1 Varistors

CIRGH
AZ Sensistors
IR

A

3 Thermistors

yfifeR

4 Light dependent resistor (LDR)

rge fetse IR

A

Trade Theory

Which is the application of series circuit?

Jofy aRuy 7 T IUTT 82

2.0

2.0

2.0

2.0



fM Fuse in circuit
ooy # wyst

{\2 Voltmeter connection
FeeHieR HareH

:A3 Electrical lamp in homes
R ¥ faggd dg

A4 Shunt resistor in ammeter

IffieR # gie iRy

Trade Theory

Which is inversely proportional to the resistance of a conductor?

T P UfRIY B FhHNT o1 BieT 32

fM Length

52 Resistivity

EISREEI

53 Temperature

GISEIE

A4 .
. Area of cross section

SR HIC BT &FAHA
Trade Tl?e—gr_y

Which material is the paramagnetic substance?

P 1 e S very 82

{\1 Cleat wiring
RilC IR

:A2 Copper
GIEll

{\3 Bismuth
Ty

A4

" Graphite

Ige

Trade Theory

In which device the air capacitors are used?

IR R T IUANT ot Iuaor B faam o 72
Al yHF
VHF
%2 Oscillator
EISEd
{B Loudspeaker
IR T

'A4 Radio receiver

e feedter

Trade Theory

‘Which is the diamagnetic substance?

RIS gerd B arg?



Al Wood

ES
2 Nickel
foa

A3 Platinum

wifey

64 Manganese

e

A

Trade Theory

Which clectrical quantity is directly proportional to the eddy current?

B T fagge T W 1eR YRT 3 FHRTE e 82

fM Voltage
e

52 Current
YRT

A3

.~ Frequency

siaft

'A4 Resistance

yfaRre
Trade Tl?e_o_r_y
Which property of magnet is illustrated?

TP BT B4 Y faiwe o= T 72

ey
s

EL140124

.Al Directive property

20 20
21 21
I
I
"
]
22 22

fa=ta faghyar
Induction property

PR AERING|

Al

,A} Saturation property
T fa=iwar
‘_A4 Poles existing property

&[q TG fI=rwar

Trade Theory

Which is a paramagnetic substance?

SHTTH 1 et I |72

_Al Air

g

AZ Steel

2.0

2.0

2.0

0.00



A3

. Glass
EaE|
54 Water
o
Trade Theory
23 23 Which type of capacitors are used in RF coupling circuit?

SRU G Widhe W {59 TR & T BT SUanT 31 o 32

Al Tantalum

Seam
.AZ Monolithic
A

53 Electrolytic

ESEEINIED

54 Metalized poly propylene

Trade Theory

24 24 Which condition, no current flow through the galvanometer in wheat stone bridge?

®Ie fae # ead-iHieR & Aregd @ fo g fRufa 7 &1 oic vafed et gl 82

_Al Balanced

52 Un balanced

{\3 Short- circuited
Qré-afdbe

_A4 Open- circuited

uA-Hfdbe
Trade Theory

25 25 What is the reading.of galvanometer in wheat stone bridge at balanced condition?

gfera fufa & wiewe foret # AeamidieR &1 dfSm = grar g2

Al High deflection

I= faamur

52 Low deflection

EACRL

Nill deflection

3 fagoo
_A4 Oscillate

iRepeie

A3

Trade Theory
26 26 What is the indication of neon polarity indicator used for checking A.C. supply?

TR e Wb BT AC STYf S THY Yol T Bl &2

fM Both electrodes will glow

I SIS O ©
,Az Only one electrode will glow

HIT T ARG STl 8

2.0

2.0

2.0

2.0

0.00



27

28

29

30

27

28

29

30

AS Both electrodes will be flickering

54 One clectrode will glow and another will be flickering

TP GRS ST SR GIRT THGI

Trade Theory

What is the formula to find 3 phase Reactive power (Pg) if the line voltage is “V| *and line current is ‘T *?

3 FHal Rufded Ui (p,) &1 FdhTem & o a1 431 8, afe e diees vy iR g e 1, 32

?M P=V_ I
P=V_ 1L
A2
Pr =3V, || Cosb
A3
P =<2V, |, Sind
Ad
P =+/3V| | Cost

Trade Theory

What is the formula for Reactive Power (P,) in an AC circuit?

AC Tfthe & Rufdea uraR (p,) &1 9 @1 72

Alp —vi
P,=VI

AZp =av
P, =2 VI

.AS P.=VIcos @
P.=VIcos 0

A4 P =VIsin b
P, = VIsin 0

Trade Theory

What is the phase displacement in a single phase AC circuit?

ThHd BY AC URUY H Heriar fba=r gidr g2

:Al 90°
90°
52 120°
120°
.A3 180°
180°
fM 270°

270°
Trade Theory

What is the formula to calculate the impedance (Z) of the R.L.C series circuit, if the inductive reactance (X1 ) is less than

capacitive reactance (X¢)?

SRUEH Ray & TSI (2) B T0MT R BT G 1 B, T IR wfaerd (x; ) 4iieta ufaend (xo) ¥ &9 32

Al

2.0

2.0

2.0

2.0

0.00

0.00



31

32

33

31

33

Z=R2- X X2

A2

Z=RP~(X K )’

A3

7= R2-(X2-X )
A4

Z=R3- (XX, P

What is the formula to calculate the line current (Iy ) of this single phase R - C parallel circuit?

THA Bl RC TARR TRUY B AT YRI(1; ) B T A $T I 8-

Trade Theory

h

& |F

e

ELN143321

Al

1=l I;
A2

I =R+l
A3

L 3212

A4

L= A4S

What is the formula to calculate the three phase active power (P) if the line voltage (V) and line current is I} and phase

angle is ‘0°?

& B Tfepa TfET (p) B 0T B3 B T T 1R, AfE A Ve (v ) 3R TS R (1) B 3R Hel bIo 9

)

Alp=3 v, 1 Sind
P=3Vy I Sin0

AZ p=3 vy I Cosd
P=3V I Cos0

A3
P=3V_I_Sine

A4

P=\3V I Cost

What is the purpose of phase sequence meter?

P 3IehH Hic BT I T 82

Trade Theory

Trade Theory

2.0

2.0

0.00

0.00

0.00



Al To control the speed of 3 phase motor
3 TROTHISR B 1 1 T H & g

{\2 To protect motor against short circuit fault

TE widhe Mo & RIans Hiex &1 a1 & forg
:A3 To indicate the incorrect phase sequence of 3 phase
3 TRUT & 7107 TR 3FehH Y $F1d 3 & forg
{M To ensure the correct phase sequence of 3 phase system

3 TROT YOI o Wl o1 3ehH B! JH13d HR o g

Trade Theory

In which condition resonance will occur in R-L-C series circuit? 2.0

SR-U-T ot uRyy # fobw fRufey  argrre g

fA‘l Inductive reactance (X ) is zero
TR YferHTd (X;) YA ©

52 Inductive reactance (X ) is equal to capacitive reactance (X¢)
IR e (X, ) TR Ui (X o) & SRR §

53 Inductive reactance (X ) is greater than capacitive reactance (X¢)
RSN ufdErd (x; ) e uferd (xq) & 8 @

{\4 Inductive reactance (X ) is less than capacitive reactance (X¢)

IR Ufend (X, ) LR Ui (Xo) S A S
= Irade_zheo_;y

What is the form factor (K¢) for sinusoidal AC? 2.0

STaETd T o o1 e TheeR (Kp) T &7

Al 00

4.44
Trade Theory

What is the reciprocal of reactance in an AC parallal circuit? 2.0

AC GAFIR giche & ufaferan o1 ogep o 82

_Al Impedance
52 Admittance
{\3 Conductance
EISEXI
54 Susceptance
Trade Theory
‘What is the line voltage in 3 phase system if the phase voltage is 240V? 2.0

3 Tht ReH 7 afe ol dieesl 240V B, O TS dlecS o1 171



AT 380 Volt

380 Volt
A2 400 Volt
400 Volt
A3 415 ot
415 Volt
A4 440 volt

440 Volt

Trade Theory

38

38

‘Which formula is used to calculate Form factor (K¢)?

i (K ) BT G T 87
Al

_ Effective value
f 7 Average value

A2

_ Average value
' Effective value

A3

_ Effective value
f ~ Maximum value

39

39

Workshop Calculation Science

40

40

What is the boiling point of water?
ATt T daeieh T el 87

A gec
0°c
A2 3000
32°C
A 1o0c
100°C

A4
. 212°C

2.0




212°C
Workshop Calculation Science

What is the side of a square whose area is 625mm??

T i B T 7 B, RoRTepT &t 625 o2 B2

Al 15 mm

15 mm

A

2 20 mm
20 mm
{\3 25 mm
25 mm

A4

~ 30 mm

30 mm
Workshop Calculation Science

What is the perimeter of a rectangle whose length and breadth are 20 cm and 18 cm?

T AT BT URHATI T 81T, Forep! g U AreTs 20 9.4, 9 18 34T 82

.Al 56 cm

56 cm
A2 66 em
66 cm
f% 76 cm
76 cm
?AA 86 cm

86 cm

) ﬁorkshop Calculation Science

Which is example for first order lever?

T 33 R & 1T ST 33801 82

:Al A wheel barrow
Teb It R

fAQ A pair of scissors
o &1 T TR

:A3 Fire tongs
BRR Y

:A4 Lime squeezer

AR WAeR

Workshop Calculation Science

Which is example for second order lever?

fodia 3SR TR o1 HH-T1 ISTE0 82

A

! Common balance
PIA S

{\2 A pair of scissors

o o1 v TR

53 Bottle opener

ad IR

54 Human forearm



BGHA BRI

Engineering Drawing

Identify the name of prism?

ot B faram 7w frsm a1 A @ @2

EDNG 812005

{\1 Square prism
IR oA

:AQ Pentagonal prism
Yeeb oy fien

:A3 Triangular prism
Prepiuig s

:A4 Hexagonal prism

TRINTHA i

Engineering DTawing
Identify the name of tool?
JUPRUI P AT UgaT?

ITIY

(VT FETTTTTTTITRTSITT

i

=
o
hen]

A

Ty

T
LSS
ettt

T

R
P

>
%,

T
ket
s

=
2%,
'y
kit

EDNG1 812C08

fM Try square

g 1 g
:A2 Surface gauge

g AU &1 U
:A3 Steel rule

e =
?A‘4 Feeler gauge

IR el

Engineering Drawing
Identify the name of tool?

JUHRUT BT AT TgATH?



48

49

48

49

ECNG1M 2008

,Al Ball pein hammer

EIGRIEREN
{\2 Cross pein hammer
i 0 FIR

A3 Straight pein hammer

R i gelreT

4 Sledge hammer

Sl R

A

Identify the name of tool?
JUSUI BT 11 UgaH?

Engineering Drawing

EDNG1B12Q10

A

! Hawk-billed shear
Biop-fore R
:A2 Aviation shear
IS B
:A3 Cutting plier
PTe I Wi

.A4 Double cutting shear

ST BIe HaRAT

Identify the name of tool?

JUH BT 1H TgIH?

Engineering Drawing

EDHGM812Q11

,Al Ball pein hammer

EIRRVEEN
2 Mallet

EEICIRIS

Al

2.0

2.0

0.00



50

51

52

53

50

51

52

53

f% Cross pein hammer
SIS
?'\4 Staright pein hammer
RedHIm
Engineering Drawing

Identify the name of tool?

JUHRT BT 14 Tgd?

EDNG1312012

,Al Open end spanner

N T R
{\2 Ring spanner

T g

,A3 Combination spanner

T R

54 Adjustable spanner

A SMGR
Employability Skills

Which one is NOT a conjunction?

P11 T Yo el 82

Al And

And

Employability Skills
Which one is NOT a benefit of the role playing?

BT U T B 1 T T8 82

A] Builds confidence

KIGIECINHEROIN

:A2 Develops listening skill
G BT BN Ao iid daT g

:A3 Develops creative problem-solving skill
TS FHEIT-THI B IR B RId Hedl §

_A4 Develops boredom

Sifead T AT

Employability Skills
Which one is NOT a vowel?

P TR T2

2.0

2.0

2.0

2.0

0.00

0.00

0.00

0.00



54

55

56

57

54

55

56

57

Al
. a
A2

. €
A3
A4

Employability Skills

Which one of the following is a good office etiquette? 2.0 0.00

fufefad & @ o1F 91 1o 31 wrafey RiveR 32

{\1 One should dress formally

TS B Siuaie w0 I U e 9y

{\2 One should not be punctual to work

T P 1Y GHY 1 Ulsie Te1 g1 =ity

_A3 One should have fancy mobile ring tone

T & U HE Aarsd R A9 g Ay

A4 One should litter one’s work place

fad BT 3T BT F WY W T SIaT ey
Employability Skills

Word that is pronounced the same as another word but differs in meaning is called 2.0 0.00

TE Teg, ol febredl G e & A BT 7, Aifcp1 3l & A San 2. Ry SISl &

Al homophone

St

../\2 homograph

THIE

:A3 diphthong
Tgad TR
f\4 syllable
Bicar)
Employability Skills

can help me learn English. 2.0 0.00

T3 il e ¥ Aeg R Iwar gl

fM dedication

Lt

.AZ fear

T3
A3
.~ anger
By

4 shyness

T

Employability Skills

Which punctuation mark should be used in the following sentence? Is there any site engineer here 2.0 0.00

fFufaftad argg & feg fom ﬁlﬁ' &1 7R foar s ?IT%'Q? Is there any site engineer here



:Al ? (question mark)
? (question mark)

2 , (comma)

, (comma)

f% . (full stop)

. (full stop)
A

4 ! (exclamation)
! (exclamation)

Employability Skills

When is capital letter used?

TS &R BT TN B b oIl 82

{\1 Beginning of a sentence

TS a1 1 oA

{\2 Names of persons

fgaal & 99

_AS Names of places

R & A
A4 All the above
TEIYFW

Employability Skills

Which one of the following is a describing word?

fafoiad & | SH-91 U quHTHS Wes 32

,Al eat

EGIEIRGIRNI|

2 .
repair

Employability Skills

When someone says 'Thank you' we should reply and say .

1§ IS Thank you (YIATE) Bl § d gH SIATd &1 AT HE AR

fM Thank you.

fpan

.AZ You're welcome.

YT @RI &

53 Bye-bye

CIES IS
_A4 How are you?

3T B F2
Employability Skills
Choose the odd word.

odd (fq) Treg T |



Al
. please

please
A2
. sorry
sorry
A3
" paper
paper
{\4 thanks

thanks

Employability Skills

62

62

Iam a welder. I work with
Aupdegld TN PH g |
‘:Al nail polish

a oiferr
robots

et

welding tools
AfeST IuBRT
5\4 laptops

ety

A2

A3

63

63

64

N
O

Today's weathe

g o

0.00

Employability Skills

The word 'when' denotes

RMeq 'when (SIS)' ?ﬂ'ﬂkﬂ%
él place
R
'}2 thing

EIS|

3
person

HfeRT

‘.A4 time

q5g

2.0

0.00

Employability Skills

65

65

Rahul enjoys with his pet dog.

TEAD AU P B Y  H AT TR

2.0




66

67

68

66

67

68

Al .

. playing
LSRRl

2 L.
writing
foram

_A3 doing
A

4 washing

Y

Employability Skills

Having a clear idea of our personality including strengths, weaknesses, thoughts, beliefs, motivation, values etc is

called

snﬁw%amwﬁwwﬁﬁmm@ﬁﬁﬁaﬁﬁmﬁwwmﬂﬁaﬁ ST I

gl

Al Betief

fagr
§A2 Self Awareness
STH SR dl
'A3 Myth
fay
f\4 Threat

YA
" Employability Skills

Which of the following does not constitute youridentity?

HTUPY TgaH Pl Tfed B & Fufafad o SeH-a1 121 82

_Al Opinions
ffa

_AZ Values
el

53 Likes

erere

A4 .
.~ Marks scored in an exam

T il A U sfh
Employability Skills

arc the abilities and qualities you have as a person that helps you grow well in life and carcer.

U AT & T H 9% U TIeG &HTE 7R 07§ S i S iR SRR B oredt ke Y ag &

EECRacE]

fM Personal Strengths
T dlehd

AZ Personal weaknesses

AT SR
'A3 Opportunities

A

54 Threats

YADT

2.0

2.0

0.00

0.00

0.00



69

70

71

72

69

70

71

72

are the qualities that are considered negative, and need to be worked on.

W 701 € 8 TP RIS AT 91 § SR B R B a7 Bt Saxaaai g |

:Al Personal Strengths
SATRAT el

:A2 Personal weaknesses

HfekTTd HHSIRE!

Opportunities

%

f\4 Threats

YD

A3

Employability Skills

Employability Skills

Which of the following is an example of personal weakness?

T HHSIRT BT IaTERVN HFfiEd § I HI9 It g2

_Al Confidence

STy
.AZ Being lazy

SfTed g

53 Hard working

_A4 Active

Hfeha

" Employability Skills

Goals arc of 2 types:
A2 UPR B B §:

‘_Al Good and bad goals

3y IR WA
'A2 Long-term and short-term goals

APITD 3R SUBIIIE T

53 Rich and poor goals

3R 3R T g

54 Fixed-term and non-fixed term goals

ff2ra srafdr 3k TRy erafer & iga

What is stress?
GRICE2IES

Al Feeling of joy

3G BT Y[
62 Feeling of surprise
3med oY Syfa
,AS Feeling of delight
ST B o
A4 . . . .
" Feeling of frustration / disappointment

fR=T/ fART=m @t HrEAT

Employability Skills

2.0

2.0

2.0

2.0

0.00

0.00



73

74

75

73

74

75

Employability Skills
Which of these is a sign of good stress? 2.0

3 I BT Tobd 3780 ¥ S A1 22

Al .
. It prevents you from pursuing your goals.
g TUDY 3T A&} 1 U] B J Apar |

.A2 It makes you doubt yourself.

g 3MUH! GG TR XH FAT 5|

.AS Does not lead to long-term tension, loss of sleep.

S Y d 719, G B ! e gl 3
,A4 Makes you physically ill or causes pain.

3! TRING T T SR T § U1 5E DT HRU S 8|
Employability Skills

An activity that stops or reduces stress is called a stress buster. Which of the following according to you is not a stress 2.0
buster?

wﬁ@gﬁmﬁm%mmm%@@www%&m&wﬁmﬁﬁﬁﬁﬂw@v
TR TR R

_Al Spending long hours thinking about the problem.
S I d% g & aR H FEd @

'A2 Going to bed on time.

TG IR R oF
63 Listening to music.

f g

,A4 Gardening

EIIGIE

Employability Skills

What is mindfulness? 2.0

TRSHa 1 87

Al It is the technique of not minding anything.

Tg B W W & 7 39 B dee B

52 It is about sharpening your brain.

TG 3NMUSP AN B O B b TR A B

‘_/\3 It is the ability to be fully present in a moment.

g U Ut A I kg Q SURT 8 Y eman 81

54 It is the word used to describe people who are full of thoughts.

g I AT T 90 B & 7T SaTa fbam S arell g @ ot faai & W gU 8l

0.00

0.00




Electrician - 1st year (Eng) SET 3

Question Number

Correct Alternative position

1 A4

2 A3

3 A2

4 A2

5 A2

6 Al

7 A3

8 Al

9 Al
10 A2
11 Al
12 A2
13 Al
14 Al
15 Al
16 A4
17 A2
18 A4
19 Al
20 A3
21 Al
22 Al
23 A2
24 Al
25 A3
26 Al
27 A3
28 A4
29 Al
30 A4
31 A4
32 A4
33 A4
34 A2
35 A2
36 A4
37 A3
38 Al
39 A4
40 A3
41 A3
42 A3
43 A2
44 A3
45 A4




46 Al
47 Al
48 A3
49 A2
50 Al
51 A4
52 A4
53 A3
54 Al
55 Al
56 Al
57 Al
58 A4
59 A3
60 A2
61 A3
62 A3
63 A2
64 A4
65 Al
66 A2
67 A4
68 Al
69 A2
70 A2
71 A2
72 A4
73 A3
74 Al
75 A3




